J. Appl. Math. & Informatics Vol. **30**(2012), No. 3 - 4, pp. 613 - 622 Website: http://www.kcam.biz

# A GENERAL MODIFIED MANN'S ALGORITHM FOR *k*-STRICTLY PSEUDO CONTRACTIONS IN HILBERT SPACE<sup>†</sup>

MING TIAN AND XIN JIN\*

ABSTRACT. In this paper, we propose a new algorithm to modify the standard Mann' process to have strong convergence for k-strictly pseudo-contractive non-self mapping in Hilbert spaces.

AMS Mathematics Subject Classification : 65H05, 65F10. *Key words and phrases* : Strictly pseudo contraction, Iterative method, Variational inequality, Fixed point.

### 1. Introduction

Let H be a real Hilbert space, K be a nonempty closed convex subset of H.  $T: K \to H$  is a k-strictly pseudo contraction if there exists a constant  $k \in [0, 1)$  such that

$$||Tx - Ty||^2 \le ||x - y||^2 + k||(I - T)x - (I - T)y||^2, \quad \forall x, y \in K.$$
(1)

Note that k-strictly pseudo contractions include nonexpansive mappings. That is, T is nonexpansive if and only if T is 0-strictly pseudo-contractive. It is also said to be pseudo-contractive if k = 1. T is said to be strongly pseudocontractive if there exists a positive constant  $\lambda \in (0, 1)$  such that  $T + \lambda I$  is pseudo-contractive. It is easy to see that k-strictly pseudo contractions are between nonexpansive mappings and pseudo contractions.

In 1953, W.R.Mann [1] introduced the standard Mann's iterative algorithm which generates a sequence  $\{x_n\}$  by (2):

$$\forall x_0 \in K, \quad x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T x_n, \quad \forall n \ge 0, \tag{2}$$

where the sequence  $\{\alpha_n\}$  is in (0,1).

Received June 29, 2011. Revised August 27, 2011. Accepted September 2, 2011. \*Corresponding author. <sup>†</sup>This work was supported by Fundamental Research Funds for the Central Universities (No. ZXH2011C002).

 $<sup>\</sup>textcircled{O}$  2012 Korean SIGCAM and KSCAM.

Since then, construction algorithms to modify the standard Mann's iterative method for nonexpansive mappings and k-strict pseudo contractions have been extensively studied by many authors.

It is clear that if T is a nonexpansive mapping with fixed point and the sequence  $\{\alpha_n\}$  is chosen so that  $\alpha_n \in (0,1)$  and  $\sum_{n=1}^{\infty} \alpha_n (1-\alpha_n) = \infty$ , then the sequence  $\{x_n\}$  generated by (2) converges weakly to a fixed point of T. In 1967, Browder and Petryshyn [3] first extended the standard Mann's method to k-strictly pseudo-contractive self-mappings in real Hilbert spaces.

Since the sequence  $\{x_n\}$  generated by the standard Mann's iterative method can only have weak convergence, modified Mann's iterations have recently been made to get strong convergence for nonexpansive mappings and k-strictly pseudo contractions; see, e.g., [2, 4, 6, 8, 9] and references therein.

T.H.Kim and H.K.Xu [4] introduced the following process:

$$\begin{cases} x_0 = x \in K, & arbitrarily \ chosen, \\ y_n = \beta_n x_n + (1 - \beta_n) T x_n, \\ x_{n+1} = \alpha_n u + (1 - \alpha_n) y_n, \quad \forall n \ge 0, \end{cases}$$
(3)

• 1 1

where T is a nonexpansive self-mapping of K,  $u \in K$  is a given point. Under some appropriate conditions on the control sequences  $\{\alpha_n\}$  and  $\{\beta_n\}$ , they obtained a strong convergence theorem.

Remark 1.1. A.Moudfi [5] introduced the standard viscosity approximation method for nonexpansive mappings. Let f be a contraction on H, starting with an arbitrary initial  $x_0 \in H$ , define a sequence  $\{x_n\}$  by:

$$x_{n+1} = \alpha_n f(x_n) + (1 - \alpha_n) T x_n, \quad \forall n \ge 0,$$
(4)

where  $\{\alpha_n\}$  is a sequence in (0, 1). It is proved that under certain appropriate conditions on  $\{\alpha_n\}$ , the sequence  $\{x_n\}$  generated by (4) converges strongly to the unique solution  $x^* \in C$  of the variational inequality:

$$\langle (I-f)x^*, x-x^* \rangle \ge 0, \quad \forall x \in Fix(T),$$

where C = Fix(T).

Yao et al.[6] modified the Mann's iterative method by using the standard viscosity approximation method:

$$\begin{cases} x_0 = x \in K, & arbitrarily \ chosen, \\ y_n = \beta_n x_n + (1 - \beta_n) T x_n, \\ x_{n+1} = \alpha_n f(x_n) + (1 - \alpha_n) y_n, \quad \forall n \ge 0, \end{cases}$$
(5)

where T is a nonexpansive self-mapping of K, and  $f: K \to K$  is a contraction. Under some mild conditions on the parameters  $\{\alpha_n\}$  and  $\{\beta_n\}$ , they proved that the sequence  $\{x_n\}$  defined by (5) converges strongly to a fixed point of T.

Remark 1.2. In 2006, G.Marino and H.K.Xu [7] proposed the following general iterative method:

$$x_0 \in H, \quad x_{n+1} = \alpha_n \gamma f(x_n) + (I - \alpha_n A) T x_n, \quad \forall \ n \ge 0, \tag{6}$$

where T is a nonexpansive self-mapping of H,  $f: H \to H$  is a contraction, and A is a strongly positive bounded linear operator on H. Under some appropriate conditions on  $\{\alpha_n\}$ , they proved that the sequence  $\{x_n\}$  defined by (6) converges strongly to a fixed point  $x^*$  of T, which equivalently solves the variational inequality:

$$\langle (\gamma f - A)\tilde{x}, x - \tilde{x} \rangle \leq 0, \quad \forall x \in Fix(T),$$

which is the optimality condition for the minimization problem:

$$\min_{x \in C} \frac{1}{2} \langle Ax, x \rangle - h(x),$$

where h is a potential function for  $\gamma f(\text{i.e.}, h'(x) = \gamma f(x) \text{ for } x \in H)$ .

Zhou [8] also modified the Mann's iterative process for non-self k-strict pseudocontractions, and obtained strong convergence in Hilbert spaces.

Very recently, X.L.Qin et al.[9] modified the Mann's iterative method by using the following composite iteration scheme:

$$\begin{cases} x_1 = x \in K, & arbitrarily \ chosen, \\ y_n = P_K[\beta_n x_n + (1 - \beta_n)Tx_n], \\ x_{n+1} = \alpha_n \gamma f(x_n) + (I - \alpha_n A)y_n, \quad \forall n \ge 1, \end{cases}$$
(7)

where  $T: K \to H$  is k-strictly pseudo contractive mapping,  $f: K \to K$  is a contraction, and A is a strongly positive bounded linear operator on K. Under some mild conditions on the parameters  $\{\alpha_n\}$  and  $\{\beta_n\}$ , they proved that the sequence  $\{x_n\}$  defined by (7) converges strongly to a fixed point of T.

In this paper, motivated by Kim and Xu [4], Moudafi [5], Yao et al. [6], G.Marino and Xu [7], Zhou [8], X.L.Qin et al.[9], we introduce a new composite algorithm:

$$\begin{cases} x_0 = x \in K, \\ y_n = P_K[\beta_n x_n + (1 - \beta_n)Tx_n] \\ x_{n+1} = [I - \alpha_n(\mu F - \gamma f)]y_n, \quad \forall n \ge 0. \end{cases}$$

$$\tag{8}$$

where T is a k-strictly pseudo contraction from K onto H, f is a self-contraction on K such that  $||f(x)-f(y)|| \leq \alpha ||x-y||$  for all  $x, y \in K$  and F is a k-Lipschitzian and  $\eta$ -strongly monotone operator on K.  $\{\alpha_n\}$  and  $\{\beta_n\}$  are sequences in [0, 1]. Under some certain appropriate assumptions on  $\{\alpha_n\}$  and  $\{\beta_n\}$ , We obtain strong convergence theorems for the k-strictly pseudo contraction. Our results improve and extend the corresponding results.

### 2. Preliminaries

**Lemma 2.1** ([2]). Assume that  $\{x_n\}$  is a sequence of nonnegative real numbers such that

$$a_{n+1} \le (1 - \gamma_n)a_n + \gamma_n \delta_n, \ \forall \ n \ge 0,$$
(9)

where  $\{\gamma_n\}$  is a sequence  $\in (0,1)$ , and  $\{\delta_n\}$  is a sequence in  $\mathbb{R}$  such that

(i)  $\sum_{n=1}^{\infty} \gamma_n = \infty$ ; (ii)  $\limsup_{n \to \infty} \delta_n \leq 0$  or  $\sum_{n=1}^{\infty} |\gamma_n \delta_n| < \infty$ . Then  $\lim_{n\to\infty} a_n = 0$ .

**Lemma 2.2** ([3]). Let  $T: K \to H$  be a k-strictly pseudo-contraction. Define  $S: K \to H$  by  $Sx = \lambda x + (1 - \lambda)Tx$  for all  $x \in K$ . Then, as  $\lambda \in [k, 1)$ , S is a nonexpansive mapping such that F(T) = F(S).

**Lemma 2.3** ([8]). If T is a k-strictly pseudo contraction on a closed convex subset of K of a real Hilbert space H, then the fixed point set F(T) is closed convex so that the projection  $P_{F(T)}$  is well defined.

**Lemma 2.4** ([8]). Let  $T : K \to H$  be a k-strictly pseudo contraction with  $F(T) \neq \emptyset$ , then  $F(T) = F(P_K T)$ .

**Lemma 2.5** ([10]). Let  $\lambda$  be a number in [0,1] and  $\mu > 0$ . Let  $F : H \to H$  be a  $\kappa$ -Lipschitzian continuous and  $\eta$ -strongly monotone operator with  $\kappa > 0$  and  $\eta > 0$ . Associating with a nonexpansive mapping T on H, define a mapping  $T^{\lambda}: H \to H \text{ by } T^{\lambda}x := Tx - \lambda \mu F(Tx), \text{ for all } x \in H. \text{ Let } \tau = \mu(\eta - \frac{\mu\kappa^2}{2}), \text{ thus } T^{\lambda}: H \to H \text{ is a contraction, that } is: ||T^{\lambda}x - T^{\lambda}y|| \leq (1 - \lambda \tau)||x - y||.$ 

## 3. Main results

**Theorem 3.1.** Let H be a real Hilbert space, let K be a nonempty closed convex subset of H such that  $K \pm K \subset K$ . Assume that  $f : K \to K$  is a contraction with a coefficient  $0 \leq \alpha < 1$ . Let  $T: K \to H$  be a non-self k-strictly pseudo contraction such that  $F(T) \neq \emptyset$ . Let  $F: K \to K$  be a  $\kappa$ -Lipschitzian continuous and  $\eta$ -strongly monotone operator with  $\kappa > 0$  and  $\eta > 0$ . Let  $0 < \mu < 2\eta/\kappa^2$  and  $\frac{\tau-1}{\alpha} < \gamma < \mu(\eta - \mu \kappa^2/2)/\alpha = \frac{\tau}{\alpha}$ . Let the sequence  $\{x_n\}$  generated by (1.3), where the sequence  $\{\alpha_n\}$  and  $\{\beta_n\}$  are in [0,1] and satisfy the following conditions:

- (C1)  $\lim_{n\to\infty} \alpha_n = 0$ ,  $\sum_{n=0}^{\infty} \alpha_n = \infty$ ; (C2)  $k \leq \beta_n \leq \lambda < 1$ ,  $\lim_{n\to\infty} \beta_n = \lambda$  for all  $n \geq 0$ ; (C3)  $\sum_{n=0}^{\infty} |\alpha_{n+1} \alpha_n| < \infty$  and  $\sum_{n=0}^{\infty} |\beta_{n+1} \beta_n| < \infty$ .

Then  $\{x_n\}$  converges strongly to  $\tilde{x} \in F(T)$ , which also solves the variational inequality:

$$\langle (\mu F - \gamma f)\tilde{x}, x - \tilde{x} \rangle \ge 0, \quad \forall x \in Fix(T).$$
 (10)

*Proof.* First, we show that the sequences  $\{x_n\}$  and  $\{y_n\}$  are all bounded. Take any  $p \in F(T)$ , we have

$$\begin{aligned} \|y_n - p\|^2 &= \|P_K[\beta_n x_n + (1 - \beta_n)Tx]_n - p\|^2 \\ &\leq \|\beta_n(x_n - p) + (1 - \beta_n)(Tx_n - p)\|^2 \\ &= \beta_n \|x_n - p\|^2 + (1 - \beta_n)\|Tx_n - p\|^2 - \beta_n(1 - \beta_n)\|Tx_n - x_n\|^2 \\ &\leq \|x_n - p\|^2 - (1 - \beta_n)(\beta_n - k)\|Tx_n - x_n\|^2 \\ &\leq \|x_n - p\|^2. \end{aligned}$$

It follows that

$$||x_{n+1} - p|| = ||[I - \alpha_n(\mu F - \gamma f)]y_n - p||$$
  

$$\leq ||(I - \alpha_n \mu F)y_n - (I - \alpha_n \mu F)p|| + \alpha_n ||\gamma f(y_n) - \mu Fp||$$
  

$$\leq (1 - \alpha_n \tau) ||y_n - p|| + \alpha_n (\gamma ||f(y_n) - f(p)|| + ||\gamma f(p) - \mu Fp||)$$
  

$$\leq [1 - \alpha_n (\tau - \gamma \alpha)] ||x_n - p|| + \alpha_n ||\gamma f(p) - \mu Fp||.$$

By induction, we have

$$||x_n - p|| \le \max\{||x_0 - p||, \frac{||\gamma f(p) - \mu F(p)||}{\tau - \gamma \alpha}\}, \quad \forall n \ge 0,$$

and  $\{x_n\}$  is bounded, so is  $\{y_n\}$ . Next we show that  $||x_{n+1} - x_n|| \to 0$ . Consider a mapping  $T_n$  on K define by

$$T_n x = P_K[\beta_n x + (1 - \beta_n)Tx], \quad x \in K.$$
(11)

It is easy to see that  $T_n$  is nonexpansive. Indeed, for all  $x, y \in K$ , we have

$$\begin{aligned} \|T_n x - T_n y\|^2 &= \|P_K[\beta_n x + (1 - \beta_n)Tx] - P_K[\beta_n y + (1 - \beta_n)Ty\|^2 \\ &\leq \|[\beta_n x + (1 - \beta_n)Tx] - [\beta_n y + (1 - \beta_n)Ty\|^2 \\ &= \beta_n \|x - y\|^2 + (1 - \beta_n)\|Tx - Ty\|^2 \\ &- \beta_n (1 - \beta_n)\|(I - T)x - (I - T)y\|^2 \\ &\leq \beta_n \|x - y\|^2 + (1 - \beta_n)[\|x - y\|^2 + k\|(I - T)x - (I - T)y\|^2] \\ &- \beta_n (1 - \beta_n)\|(I - T)x - (I - T)y\|^2 \\ &\leq \|x - y\|^2, \end{aligned}$$

which implies that  $T_n$  is nonexpansive. Since  $\{x_n\}$  bounded, so  $\{T_n x_n\}$  and  $\{FT_n x_n\}$  are also bounded. For simplicity, we rewrite (3) by:  $x_{n+1} = [I - I]$  $\alpha_n(\mu F - \gamma f)]T_n x_n$ . It follows that

$$\begin{aligned} \|x_{n+2} - x_{n+1}\| \\ &= \|[I - \alpha_{n+1}(\mu F - \gamma f)]T_{n+1}x_{n+1} \\ &- [I - \alpha_n(\mu F - \gamma f)]T_n x_n\| \\ &\leq \|(I - \alpha_{n+1}\mu F)T_{n+1}x_{n+1} - (I - \alpha_{n+1}\mu F)T_n x_n\| \\ &+ |\alpha_n - \alpha_{n+1}|\|\mu FT_n x_n\| + \gamma [\alpha_{n+1}\|f(T_{n+1}x_{n+1}) \\ &- f(T_n x_n)\| + |\alpha_{n+1} - \alpha_n|\|f(T_n x_n)\|] \\ &\leq (1 - \alpha_{n+1}\tau)(\|x_{n+1} - x_n\| + \|T_{n+1}x_n - T_n x_n\|) \\ &+ |\alpha_n - \alpha_{n+1}|\|\mu FT_n x_n\| + \gamma [\alpha_{n+1}\alpha\|T_{n+1}x_{n+1} - T_n x_n\| \\ &+ |\alpha_{n+1} - \alpha_n|\|f(T_n x_n)\|]. \end{aligned}$$
(12)

From (11), we have that

$$\begin{aligned} \|T_{n+1}x_n - T_n x_n\| \\ &= \|P_K[\beta_{n+1}x_n + (1 - \beta_{n+1})Tx_n] \\ &- P_K[\beta_n x_n + (1 - \beta_n)Tx_n]\| \\ &\leq \|[\beta_{n+1}x_n + (1 - \beta_{n+1})Tx_n - [\beta_n x_n + (1 - \beta_n)Tx_n]\| \\ &\leq |\beta_n - \beta_{n+1}| \|x_n - Tx_n\|. \end{aligned}$$
(13)

Applying (13) to (12), we deduce that

$$\|x_{n+2} - x_{n+1}\| \le [1 - \alpha_{n+1}(\tau - \gamma \alpha)] \|x_{n+1} - x_n\| + M(|\alpha_{n+1} - \alpha_n| + |\beta_{n+1} - \beta_n|),$$
(14)

where M is an appropriate constant such that

$$M \ge [1 - \alpha_{n+1}(\tau - \gamma \alpha)] \|x_n - Tx_n\| + \gamma \|f(T_n x_n)\| + \mu \|FT_n x_n\|.$$

From (C1), (C3) and by Lemma 2.1, we have

$$\|x_{n+1} - x_n\| \to 0. \tag{15}$$

Next we show  $||x_n - Tx_n|| \to 0$ . From  $x_{n+1} = [I - \alpha_n(\mu F - \gamma f)]T_n x_n$ , we have  $||x_n - Tx_n|| \le ||x_n - x_{n+1}|| + ||x_{n+1} - Tx_n||$  $\le ||x_n - x_{n+1}|| + \alpha_n ||(\mu F - \gamma f)T_n x_n||.$ 

By (C1) and (15), it shows that

$$\|x_n - Tx_n\| \to 0. \tag{16}$$

On the other hand, conditions (C2) and (C3) imply that  $\beta_n \to \lambda$  as  $n \to \infty$ , where  $\lambda \in [k, 1)$ . Define a mapping  $S: K \to H$  by  $Sx = \lambda x + (1 - \lambda)Tx$ . Then, by Lemma 2.2, S is nonexpansive mapping with F(S) = F(T). It follows from Lemma 2.4, that  $F(P_K S) = F(S) = F(T)$ . We calculate that

$$\begin{aligned} \|P_{K}Sx_{n} - x_{n}\| &\leq \|x_{n} - T_{n}x_{n}\| + \|T_{n}x_{n} - P_{K}Sx_{n}\| \\ &\leq \|x_{n} - T_{n}x_{n}\| + \|\beta_{n}x_{n} + (1 - \beta_{n})Tx_{n} \\ &- [\lambda x_{n} + (1 - \lambda)Tx_{n}]\| \\ &\leq \|x_{n} - T_{n}x_{n}\| + |\beta_{n} - \lambda| \|x_{n} - Tx_{n}\|. \end{aligned}$$

From (16), we have

$$\lim_{n \to \infty} \|P_K S x_n - x_n\| = 0.$$
 (17)

For each  $t \in (0, 1)$ , we consider a mapping  $G_t$  on K defined by

 $G_t x = [I - t(\mu F - \gamma f)] P_K S x.$ 

Indeed, by Lemma 2.5, we have

$$||G_t x - G_t y|| \le [1 - t(\tau - \gamma \alpha)] ||x - y||,$$

which implies that the mapping  $G_t$  is a contraction from K to K. Using the Banach contraction principle, there exists a unique point, denoted by  $x_t$ , which uniquely solves the fixed point equation: $x = [I - t(\mu F - \gamma f)]P_KSx$ .

Now, we show that

$$\limsup_{n \to \infty} \langle \gamma f(\tilde{x}) - \mu F \tilde{x}, x_n - \tilde{x} \rangle \le 0,$$

where  $\tilde{x} = \lim_{t\to 0^+} x_t$ , and  $x_t$  is the fixed point of the contraction  $x \mapsto [I - t(\mu F - \gamma f)]P_KSx$ . Thus, by Lemma 2.5, it follows that

$$\begin{aligned} \|x_{t} - x_{n}\|^{2} \\ &= \|(I - t\mu F)P_{K}Sx_{t} - (I - t\mu F)x_{n} + t(\gamma f(P_{K}Sx_{t}) - \mu Fx_{n})\|^{2} \\ &\leq (1 - t\tau)^{2}\|P_{K}Sx_{t} - x_{n}\|^{2} + 2t\langle\gamma f(P_{K}Sx_{t}) - \mu Fx_{n}, x_{t} - x_{n}\rangle \\ &\leq (1 - t\tau)^{2}\|P_{K}Sx_{t} - P_{K}Sx_{n} + P_{K}Sx_{n} - x_{n}\|^{2} \\ &+ 2t\langle\gamma f(P_{K}Sx_{t}) - \mu Fx_{n}, x_{t} - x_{n}\rangle \\ &\leq (1 - t\tau)^{2}[\|P_{K}Sx_{t} - P_{K}Sx_{n}\|^{2} + \|P_{K}Sx_{n} - x_{n}\|^{2} \\ &+ 2\|P_{K}Sx_{t} - P_{K}Sx_{n}\|\|P_{K}Sx_{n} - x_{n}\|] \\ &+ 2t\langle\gamma f(P_{K}Sx_{t}) - \mu Fx_{n}, x_{t} - x_{n}\rangle \\ &\leq (1 - t\tau)^{2}\|x_{t} - x_{n}\|^{2} + p_{n}(t) + 2t\langle\mu Fx_{t} - \mu Fx_{n}, x_{t} - x_{n}\rangle \\ &\leq (1 - t\tau)^{2}\|x_{t} - x_{n}\|^{2} + p_{n}(t) + 2t\langle\mu Fx_{t} - \mu Fx_{n}, x_{t} - x_{n}\rangle \end{aligned}$$

where  $p_n(t) = (1 - t\tau)^2 (2||x_t - x_n|| + ||x_n - P_K S x_n||) ||x_n - P_K S x_n||$ , and from (17), it follows that  $p_n(t) \to 0$ . From (18), and recall that F is  $\eta$ -strongly monotone and also from the Theorem 3.1, we find that  $\mu \eta \geq \tau$ . Thus, we have

$$2t\langle \mu F x_t - \gamma f(P_K S x_t), x_t - x_n \rangle \leq (t^2 \tau^2 - 2t\tau) \|x_t - x_n\|^2 + p_n(t) \\ + 2t\mu \langle F x_t - F x_n, x_t - x_n \rangle \\ \leq (t^2 \tau - 2t) \langle \mu F x_t - \mu F x_n, x_t - x_n \rangle + p_n(t) \\ + 2t\mu \langle F x_t - F x_n, x_t - x_n \rangle \\ \leq t^2 \tau \mu \langle F x_t - F x_n, x_t - x_n \rangle + p_n(t).$$

It follows that

$$\langle \mu F x_t - \gamma f(P_K S x_t), x_t - x_n \rangle \le \frac{t\tau\mu}{2} \langle F x_t - F x_n, x_t - x_n \rangle + \frac{1}{2t} p_n(t).$$
(19)

Let  $n \to \infty$ , and recall that  $p_n(t) \to 0$ , we have

$$\limsup_{n \to \infty} \langle \mu F x_t - \gamma f(P_K S x_t), x_t - x_n \rangle \le \frac{t\tau \mu \kappa}{2} \langle F x_t - F x_n, x_t - x_n \rangle, \quad \forall t \in (0, 1).$$

Let  $t \to 0$ , it follows that

$$\limsup_{t \to 0} \limsup_{n \to \infty} \langle \mu F x_t - \gamma f(P_K S x_t), x_t - x_n \rangle \le 0.$$
<sup>(20)</sup>

It is obvious that

$$\begin{split} \langle \gamma f(\tilde{x}) - \mu F \tilde{x}, x_n - \tilde{x} \rangle \\ &= \langle \gamma f(\tilde{x}) - \mu F \tilde{x}, x_n - \tilde{x} \rangle - \langle \gamma f(\tilde{x}) - \mu F \tilde{x}, x_n - x_t \rangle \\ &+ \langle \gamma f(\tilde{x}) - \mu F \tilde{x}, x_n - x_t \rangle - \langle \gamma f(\tilde{x}) - \mu F x_t, x_n - x_t \rangle \\ &+ \langle \gamma f(\tilde{x}) - \mu F x_t, x_n - x_t \rangle - \langle \gamma f(P_K S x_t) - \mu F x_t, x_n - x_t \rangle \\ &+ \langle \gamma f(P_K S x_t) - \mu F x_t, x_n - x_t \rangle \\ &= \langle \gamma f(\tilde{x}) - \mu F \tilde{x}, x_t - \tilde{x} \rangle + \langle \mu F x_t - \mu F \tilde{x}, x_n - x_t \rangle \\ &+ \langle \gamma f(\tilde{x}) - \gamma f(P_K S x_t), x_n - x_t \rangle + \langle \gamma f(P_K S x_t) - \mu F x_t, x_n - x_t \rangle. \end{split}$$

Let  $n \to \infty$ , it follows that

$$\begin{split} \limsup_{n \to \infty} \langle \gamma f(\tilde{x}) - \mu F \tilde{x}, x_n - \tilde{x} \rangle &\leq \|\gamma f(\tilde{x}) - \mu F \tilde{x}\| \|x_t - \tilde{x}\| \\ &+ \mu \kappa \|x_t - \tilde{x}\| \lim_{n \to \infty} \|x_n - x_t\| \\ &+ \gamma \alpha \|P_K S x_t - \tilde{x}\| \lim_{n \to \infty} \|x_n - x_t\| \\ &+ \limsup_{n \to \infty} \langle \gamma f(P_K S x_t) - \mu F x_t, x_n - x_t \rangle, \end{split}$$

therefore, let  $t \to 0$ , and combined with (20), we get

$$\begin{split} \limsup_{n \to \infty} &\langle \gamma f(\tilde{x}) - \mu F \tilde{x}, x_n - \tilde{x} \rangle \\ &= \limsup_{t \to 0} \limsup_{n \to \infty} \langle \gamma f(\tilde{x}) - \mu F \tilde{x}, x_n - \tilde{x} \rangle \\ &\leq \limsup_{t \to 0} \|\gamma f(\tilde{x}) - \mu F \tilde{x}\| \|x_t - \tilde{x}\| \\ &+ \limsup_{t \to 0} \mu \kappa \|x_t - \tilde{x}\| \limsup_{n \to \infty} \|x_n - x_t\| \\ &+ \limsup_{t \to 0} \gamma \alpha \|P_K S x_t - \tilde{x}\| \lim_{n \to \infty} \|x_n - x_t\| \\ &+ \limsup_{t \to 0} \limsup_{n \to \infty} \langle \gamma f(P_K S x_t) - \mu F x_t, x_n - x_t \rangle \\ &\leq 0. \end{split}$$

So, we conclude that  $\limsup_{n\to\infty} \langle \gamma f(\tilde{x}) - \mu F \tilde{x}, x_n - \tilde{x} \rangle \leq 0$ . Finally, we prove  $x_n \to \tilde{x}$ . To this end, we calculate

$$\begin{split} \|x_{n+1} - \tilde{x}\|^2 \\ &= \|\alpha_n(\gamma f(y_n) - \mu F(\tilde{x})) + (I - \alpha_n \mu F)y_n - (I - \alpha_n \mu F)\tilde{x}\|^2 \\ &= \|(I - \alpha_n \mu F)y_n - (I - \alpha_n \mu F)\tilde{x}\|^2 + 2\alpha_n \langle \gamma f(y_n) - \mu F(\tilde{x}), x_{n+1} - \tilde{x} \rangle \\ &\leq (1 - \alpha_n \tau)^2 \|x_n - \tilde{x}\|^2 + 2\alpha_n \langle \gamma f(y_n) - \gamma f(\tilde{x}) + \gamma f(\tilde{x}) - \mu F(\tilde{x}), x_{n+1} - \tilde{x} \rangle \\ &\leq (1 - \alpha_n \tau)^2 \|x_n - \tilde{x}\|^2 + 2\alpha_n \gamma \langle f(y_n) - f(\tilde{x}), x_{n+1} - \tilde{x} \rangle \\ &+ 2\alpha_n \langle \gamma f(\tilde{x}) - \mu F(\tilde{x}), x_{n+1} - \tilde{x} \rangle \\ &\leq (1 - \alpha_n \tau)^2 \|x_n - \tilde{x}\|^2 + \alpha_n \gamma \alpha (\|x_n - \tilde{x}\|^2 + \|x_{n+1} - \tilde{x}\|^2) \\ &+ 2\alpha_n \langle \gamma f(\tilde{x}) - \mu F(\tilde{x}), x_{n+1} - \tilde{x} \rangle. \end{split}$$

Since  $\{x_n\}$  is bounded, we take a constant L > 0 such that  $L \ge ||x_n - \tilde{x}||^2$ . In fact, we have

$$\begin{aligned} \|x_{n+1} - \tilde{x}\|^{2} \\ &\leq \frac{(1 - \alpha_{n}\tau) + \alpha_{n}\gamma\alpha}{1 - \alpha_{n}\gamma\alpha} \|x_{n} - \tilde{x}\|^{2} + \frac{2\alpha_{n}}{1 - \alpha_{n}\gamma\alpha} \langle \gamma f(\tilde{x}) - \mu F(\tilde{x}), x_{n+1} - \tilde{x} \rangle \\ &\leq [1 - \frac{2\alpha_{n}(\tau - \gamma\alpha)}{1 - \alpha_{n}\gamma\alpha}] \|x_{n} - \tilde{x}\|^{2} \\ &+ \frac{2\alpha_{n}(\tau - \gamma\alpha)}{1 - \alpha_{n}\gamma\alpha} [\frac{1}{\tau - \gamma\alpha} \langle \gamma f(\tilde{x}) - \mu F(\tilde{x}), x_{n+1} - \tilde{x} \rangle + \frac{\alpha_{n}\tau^{2}}{2(\tau - \gamma\alpha)} L] \\ &= (1 - \alpha_{n}) \|x_{n} - \tilde{x}\|^{2} + \alpha_{n}\bar{\beta}_{n}, \end{aligned}$$

$$(21)$$

where

$$\bar{\alpha_n} = \frac{2\alpha_n(\tau - \gamma\alpha)}{1 - \alpha_n \gamma\alpha},$$

$$\bar{\beta_n} = \frac{1}{\tau - \gamma \alpha} \langle \gamma f(\tilde{x}) - \mu F(\tilde{x}), x_{n+1} - \tilde{x} \rangle + \frac{\alpha_n \tau^2}{2(\tau - \gamma \alpha)} L.$$

It is easily seen that  $\lim_{n\to\infty} \bar{\alpha_n} = 0$ ,  $\sum_{n=0}^{\infty} \bar{\alpha_n} = \infty$ , and  $\limsup_{n\to\infty} \bar{\beta_n} \leq 0$ . By Lemma 2.1, we conclude that  $x_n \to \tilde{x}$ .

#### References

- 1. W.R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc. 4 (1953) 51-60.
- H.K. Xu, An iterative approach to quadratic optimization, J. Optim. Theory Appl. 116 (2003) 659-678.
- F.E. Browder and W. V. Petryshyn, Construction of fixed points of nonlinear mappings in Hilbert space, J. Math. Anal. Appl. 20 (1967) 197-228.
- T.H. Kim and H.K. Xu, Strong convergence of modified Mann iterations, Nonlinear Anal. 61 (2005) 51-60.
- 5. A. Moudafi, Viscosity approximation methods for fixed-points problems, J. Math. Anal. Appl. 241 (2000) 46-55.
- Y. Yao, R. Chen, and J.C. Yao, Strong convergence and certain control conditions for modified Mann iteration, Nonlinear Anal. (2007) doi: 10.1016/j. na. 2007. 01.009.
- G. Marino and H.K. Xu, An general iterative method fo nonexpansive mapping in Hilbert space, J. Math. Anal. Appl. 318 (2006) 43-52.
- H. Zhou, Convergence theorems of fixed points for k-strictly pseudo-contractions in Hilbert space, Nonlinear Anal. (2007) doi: 10.1016/j. na. 2007. 05. 032.
- X.L. Qin, M.J. Shang and S.M. Kang, Strong convergence theorems of Mann iterative process for strict pseudo-contraction in Hilbert spaces, Nonlinear Anal. 70 (2009) 1257-1264.
- H.K. Xu and T.H. Kim, Convergence of hybrid steepest-descent methods for variational inequalities, J. Optim. Theory Appl. 119 (2003) 185-201.
- M. Tian, Strong convergence of modified Mann iterations by Yamada's hybrid method for strict pseudo-contractions in Hilbert spaces, 2010 International Conference on Computational Intelligence and Software Engineering, CiSE 2010.

# Ming Tian

College of Science, Civil Aviation University of China, Tianjin 300300, China. e-mail: tianming19630126.com

# Xin Jin

College of Science, Civil Aviation University of China, Tianjin 300300, China. e-mail: bzjx1988@126.com